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2 (Single Responsihility Principle)

A (Liskov Substitution Principle)
2= (Dependency Inversion Principle)
2] Y& (Interface Segregation Principle)
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int foo(int vl1, int v2) {
int v3 = v1*v2;
if (vl >=0 || v2 >= 0)
v3 = v1+v2;
return v3;

D vl=-2 v2= 2
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@ vli= 0,v2= 0
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public void myMethod(int n) {
if (isEven(n))
System.out.println ("Even") ;
else
System.out.println ("0dd");
}

private boolean isEven (int number) ({
0;

L L

public void myMethod(int n) {
if (n % 2 == 0)

return number % ==

System.out.println ("Even");
else

System.out.println ("0dd");

27 (Hide Method)
@ WAt FZ(Extract Method)
©® Wiz g A4 A (Inline Method)
@ WasE wp/fis2 8 (Parameterize Method)
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void caller (int x, int y) {
int maxVal = max(x, y);

printf ("%d", maxVal);

int max (int v1, int v2) {
if (vl > v2) return vl;

else return v2;
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int passOrNot (int score) {
if ((score > 100) || (score < 0)) return -1;
if (score > 70) return 0;

else return 1;
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class MyEmployeeService extends EmployeeService{

private EmployeeDao employeeDao;

public void setEmployeeDao (EmployeeDao dao) {
this.employeeDao = dao;

}

public Employee getEmployee (String id) {
return employeeDao.get (id);

}

public void addEmployee (Employee emp) {

employeeDao.insert (emp) ;

}
class EmployeeService { ... }
class EmployeeDao { ... }

class Employee { ... }

o #H(association)
(dependency)
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oWk} (generalization)

A A 3} (realization)
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